Order of operations
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iz By the end of teaching allstudents willbe asked to complete the following work:
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Exercise 11

Questions: desq, 5, 7,8,9, 11

_~BIDMAS/BODMAS

The way a question is laid out can lead to us getting different answers. ==

Hence, we need to make sure we in the way in
We use a set of "rules” to help us decide which is the best way to answer a question.

Consider the following question:
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Which one s correct? —_—
_A Well, actually, both of them! e
1f we put the sum into a four function calculator then the answer wil be 4.
1f we put the answer into a scentific calculator, it operates under a st of rulles which would give the v o—
answeras 33
The Scientifc calculator uses the following rules:
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This calculator was magictl
‘Well, when we first got one that was ...
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Using this means we would always get the answer 33 JTS/Y—(’% 3
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We must now make sure we use

Are the following statements TRUE or FALSE?
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Brackets inside brackets?!

It's always awesome in Mathematics when we can do brackets inside brackets.
The rules of BIDMAS say we must do the brackets first. \@

S0, we do the inner most brackets, and work out ...

—

Example:

3x[(3+5) x4—1]
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3« 3= 43
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Doing things backwards

What we can do in Mathematics forwards, we can also do backwards.
Many times we are given questions where we are given the answers, and have to make up the question.
Or, we have to make the question fit the answer we are given.

This topic is great for these backwards styles of questions.

Example: Put brackets into the following question to make the equation correct:
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As you can see, there are three different places we can put the brackets!
There is no "easy” way to see where the brackets need to be, so we have trial and error.
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